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Question: 1 
   
6 kilograms = ? pounds 
 
A. 6,000 
B. N 
C. 2.205 
D. 13.23 
E. 15.24 
 

Answer: D     
 
Explanation: 
6 kilograms × (2.205 pounds)/(1 kilogram) = 13.23 pounds 

Question: 2 
   
4 furlongs = ? rods 
 
A. 160 
B. N 
C. 0.1 
D. 10 
E. 40 
 

Answer: A     
 
Explanation: 
4 furlongs × (40 rods)/(1 furlong) = 160 rods 

Question: 3 
   
80 ounces = ? pounds 
 
A. 5 
B. 16 
C. N 
D. 8 
E. 10 
 

Answer: A     
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Explanation: 
80 ounces × (1 pound)/(16 ounces) = 5 pounds 

Question: 4 
   
3 acres = ? square feet 
 
A. 640 
B. 1,920 
C. N 
D. 43,560 
E. 130,680 
 

Answer: E     
 
Explanation: 
3 acres × (43,560 sq ft)/(1 acre) = 130,680 sq ft 

Question: 5 
   
2 miles = ? kilometers 
 
A. 2.486 
B. 1.243 
C. 3.218 
D. N 
E. 1.609 
 

Answer: C     
 
Explanation: 
2 miles × (1.609 kilometers)/(1 mile) = 3.218 kilometers 

Question: 6 
   
3 quart = ? gallons 
 
A. N 
B. 0.75 
C. 1.33 
D. 4 
E. 0.33 
 

Answer: B     
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Explanation: 
3 quarts × (1 gallon)/(4 quarts) = 0.75 gallons 

Question: 7 
   
12 fathoms = ? feet 
 
A. 6 
B. 72 
C. 12 
D. 2 
E. N 
 

Answer: B     
 
Explanation: 
12 fathoms × (6 feet)/(1 fathom) = 72 feet 

Question: 8 
   
126 gallons = ? barrels 
 
A. N 
B. 5292 
C. 42 
D. 4 
E. 3 
 

Answer: E     
 
Explanation: 
126 gallons × (1 barrel)/(42 gallons) = 3 barrels 

Question: 9 
   
60 miles/hour = ? feet/second 
 
A. 88 
B. 41 
C. N 
D. 100 
E. 5 
 

Answer:      
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Explanation: 
60 miles/hr × (4.4 feet/sec)/(3 mile/hr) = 88 feet/sec 

Question: 10 
   
500 grams = ? kilograms 
 
A. 0.05 
B. 50 
C. 0.5 
D. 500,000 
E. N 
 

Answer: C     
 
Explanation: 
500 grams × (1 kilogram)/(1000 grams) = 0.5 kilograms 
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